1': ; o : _a.f _Ill* ]
e - }‘\l-.-" L_..'Ll-l' L

lfote.. iumber of - w2d pages— 3
44 (5) CODG 5.
2009
COMPILER DESIGN
faper : 52
* Full Marks - 80

Iime : Three hours  *

- —-——

T he figures'in tiie margin indicate Juil marks

forthe questions.

A ) State the different phases of the front end
of a compiler and give a brief description

ot the work of each phase. 5
w1+ {b) Define linker and loader. 3
W N _ B
e

?/ From the regular expression a*b* (aba) generate
a NFA first and then convert it into a DFA.

8
Or

~_Write an algorithm to minimize the number of
states of a DFA. R 3

Conid.



7T 4 1 ; f‘) oy T - : .
A S ! T e y ‘f'lll‘,_ e . RS I;".. . ! i : - . - -
o Sy ol dnd LA i STV L - NFA Can S aar iq Flov aoranh T gy, .
Y B — ey y PR )} Wnat s 1O it adj/lh e
conyemtea W ou oA %+IH:;J ‘
— 5
—

Or . . . |
‘) What is parse tree . Zxplain with an

2 ‘ o |
t ‘) What is LALR parsz Zxplain
17 SR ALOrS 5

S ,'Td:-rn T~ :."3,':.--%?: - ez AT T N : ;
Arite lexycal analyser tor identifier - = ooe example

: ‘?' She > 2 > = . {: . < == . — — ) {he . h X;
- ~ L , cderine the erariar
= kKeywords nt, for, whilz, returs 2ad string = (e) Considering glalaz
. - : ' 7
constant as i C-language. , 20 S5 .
_____ e el e e AU A . ) C e | m_‘-EE'_ . == . _ S;a_ f_‘C - _ . S
— e " o ._“C'*—.—}' ~Clé ) ~
Considerine the follom I CPaArTT LT - - & ino table. 15
| 2 == consiruct canonical £R parsing tabie. 12
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S . 7 | :
—=®rl/e : | ; (a) Show how flow of ceaol smtements given
= (L) id - : | by the fO]]OWIﬂO grommar (with U%U“

meamnﬂ) can be tra*hred

| - S S__> if £ then A) .
D/?[)) Construct predictive parsing be. 8 R - i E then S else ;-
L . whlle E do S

| begin L end

_A4) Give FIRST and FOLLOW set.  3+3=6

i C) Show the stack moves mdde by Lredu,twe
parser on Input zd~—id 1l

e gLl ’O\'

4. Answer either [(a), (b) and (c)] or 1(d; and (e*)] - L L S )
‘(1) Wnat is basic block 7 Give Lllou (thim tor_ | A is an dssignment statement 1nd E is 2
= . basic block. N 2+b:i0 | N Boolean exer"SSIO'T (make neces,sm:f
| assumptions). 20
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Explain the code generztion algorithm.

10

%/( \_w What is left factoring 7 Explain with an
example. B

“What de you mean by recursive descent
parsing 7 Explaimn. R
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(e s regular @ sion 7 Explain.
\ Mhat 1s regular expression Expi
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_ (a) Linker

(b) Elimination of dend code

M/ St01 age manafrement

~ (d) _COntents of symbol table
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